[-] PARADISE LOST = PARADOX SOLVED [+]

THE BOOK OF LIGHT (BY THE NUMBERS)

THE BOOK OF MIRRORS
THE BOOK OF 0Z
[-=+4]

[0]



[1] LIGHT & [9] MIND & [0] TIME

Q: WHAT IS CONSCIOUSNESS?

A: LIGHT IS CONSCIOUSNESS. LIGHT IS THE PRIME ORGANISM. LIGHT IS THE FUNDAMENTAL SUBSTANCE
THAT LINKS ALL CONTACT MODALITIES & ALL TYPES OF CONTACT WITH NON-HUMAN INTELLIGENCE.
LIGHT IS HELD WITHIN THOUGHT [3] HELD WITHIN MIND [9]. THE SIXTH SENSE [6] IS THE ELECTR-O-
MAGNETIC [- = +] CONNECTION TO LIGHT [1] WITHIN MIND [9]. THE MIND [9] IS CRADLED IN TIME [0]
(NO.THING), WHICH WAS CREATED BY THE LIGHT [1] (EVERYTHING). THIS IS THE RECIPROCATING CYCLE
OF THE CIRCULAR CIRCUIT OF TRIPOLARIZED ELECTR-O-MAGNETIC CURRENT [- = +].

[+] 1 = LIGHT (EVERYTHING) = LOVE = LIFE
TESLA’S SECRET OF 3, 6, & 9 = A BALANCED ELECTR-O-MAGNETIC [- = +] FRACTAL OF MIND:

[+] 6 = SEX (LIGHT) (INVISIBLE EXPANSION) & SENSE (MIND) (INVISIBLE CONTRACTION)
[=] 3 = PINEAL (THOUGHT) (MIND)
[-] 9= MIND (PERFECT CUBE) (ALWAYS REDUCES TO SELF) (9 x 7 = 63) (6 + 3 = 9) (SELFISH)

TRIPOLARIZED LIGHT = 33.33 + 33.33 + 33.33 (111111111111111111111111111111111111111111111111111111111...)

Q: HOW ARE MIND [9] & TIME [0] CONNECTED?
A: 3 [TRIPOLARIZED CURRENT] IS IN EQUILIBRIUM [=] WITHIN 0 [TIME], JUST AS 3 IS IN FRACTALIZED
EQUILIBRIUM [=] WITHIN 6 (SEX) (SENSE) & 9 (MIND).

[+]6=3+3
[z]3=3+0
[[] 9=3+3+3(3x3)(3%)

Q: WHICH NUMBERS ARE WHICH ARCHETYPAL FRACTALS?

0 = TIME (PERFECT STILLNESS) (0x0=0) (0+0=0) (0/0=0) (0—0=0)
1= LIGHT (PERFECT LOVE) (INDIVISIBLE) (1/1=1) (1 x1=1)

2 = VESICA (PERFECT VESSEL) (DIVISIBLE & MULTIPLIABLE)

3 = PINEAL (THOUGHT) (MIND)

4 = HEART (PERFECT SQUARE) (DIVISIBLE & MULTIPLIABLE)

5 = SENSES (BODY) (PRANAS)

6 = SEX (LIGHT) & SENSE (MIND) (INVISIBLE CONTRACTION)

7 = CHAKRAS (INVISIBLE REFRACTION) & RAINBOW (VISIBLE REFRACTION)
8 = SOUL (PERFECT INTERVAL) (OCTAVE)

9 = MIND (PERFECT CUBE) (ITSELF x ANYSELF = REDUCED SELF) (9x 7 = 63) (6 + 3= 9)
10 = PERFECTION (COMPLETION) (SACRED MARRIAGE OF LIGHT & TIME)

Q: WHAT IS THE RELATIONSHIP OF LIGHT [1] & TIME [0]?

1 =LIGHT. IT IS EVERYTHING. IT IS THE ONLY THING. THE ONE THING THAT EXISTS.

0 = TIME. IT IS NOTHING. NO THING EXISTS OUTSIDE OF THE EVERYTHING. IF SOMETHING EXISTED
OUTSIDE OF EVERYTHING, EVERYTHING WOULD NOT BE EVERYTHING. THIS IS A SELF-EVIDENT TRUTH.



Q: WHICH CAME FIRST?

A: LIGHT CAME FIRST. LIGHT IS EVERYTHING, IT ALONE CREATED THE NOTHING WITHIN ITSELF. NOTHING
HAS NO CREATIVE POWER & THUS CANNOT CREATE ANYTHING, LET ALONE EVERYTHING. IT IS NO THING
& EXHIBITS NO THING. IT HAS NO QUALITY OTHER THAN BEING NOTHING.

Q: HOW IS IT THAT NOTHING [0] IS PART OF EVERYTHING [1]?

A: [NUMERICAL POV]: AN EVEREXPANDING 1 [ONE] [LIGHT] IN PICTURE VIEW = AN EVEREXPANDING 0
[ZERO] IN PROFILE. [GEOMETRICAL POV]: AN EVEREXPANDING LINE [I] IN PICTURE VIEW = AN
EVEREXPANDING CIRCLE [O] IN PROFILE.

[GEOMETRICAL POV]:

[1] [LIGHT]: THE ONE [1] THING THAT IS EVERYTHING = THE CIRCLE. THIS SHAPE IS THE FIRST FORM (&
NATURALLY FEMININE). IT HOLDS THE MOST AREA (EVERYTHING). IT IS IN PERFECT EQUILIBRIUM.

[0] [TIME]: THE NOTHING CREATED BY THE EVERYTHING = THE DOT (A CIRCULAR NOTHING). THIS SHAPE
IS THE SECOND FORM (OF NO FORM). IT HOLDS NO AREA. IT IS IN PERFECT BALANCE WITHIN PERFECT
EQUILIBRIUM.

THE LINE & CIRCLE ARE ONE THING, YET EXPRESSED AS TWO THINGS (JUST AS THERE ARE TWO SIDES TO
ANY COIN, YET STILL ONLY ONE COIN). IT IS THE ONLY SHAPE NEEDED TO CREATE EVERYTHING.
SYNCHRONOUSLY, THE 1 & 0 (BINARY) ARE THE ONLY NUMBER NEEDED TO COMMUNICATE EVERYTHING.
THE LINE IS NOT A SHAPE (NO SHAPE), JUST AS THE ZERO IS NOT A NUMBER (NO NUMBER). YET, THE LINE
(NO SHAPE) & THE CIRCLE (FIRST SHAPE) ARE INVERSELY PROPORTIONAL (MIRRORS IN PROPORTION) OF
THE 1 (FIRST NUMBER) & THE 0 (NO NUMBER).

[ALPHA-NUMERICAL POV]: LIGHT IS PERFECT BOTH WITHIN (01) & WITHOUT (IO) ITSELF (INVERSELY
PROPORTIONAL POVs). IT ISTHE PERFECT 10 (A 1 & ITS PROFILE 0). EXPRESSED IN FORM, LIGHT IS PERFECT
WITHIN & WITHOUT ITSELF (A LINE & CIRCLE). IT IS THE WHITE AREA IN THE PERFECT CIRCLE & THE
NEGATIVE POLARIZED PERIMETER WHICH DRAWS THE CIRCLE & SIMUTANEOUSLY THE DOT BALANCED
IN THE CENTER OF IT ALL (THE ALL) (EVERYTHING). REMEMBER, NOTHING CAN EXIST OUTSIDE OF
EVERYTHING, YET SIMULTANEOUSLY, 1/ONE (EVERYTHING) CREATED THE ZERO/0 (NOTHING) INSIDE OF
ITSELF. PURE NUMBER & GEOMETRY (NUMBER IN FORM) ARE INVERSELY PROPORTIONAL.

[+] SHAPE (CIRCLE) & NO SHAPE (LINE)
[=] THE MIRROR (0110) (CIRCLE LINE-ENIL ELCRIC) (ELECTRIC) (ON & OFF)
[-] NUMBER (1) & NO NUMBER (0)

[MIRRORS]: THE NUMERICAL 0 & 1 ARE MIRRORS, JUST AS THE GEOMETRIC CIRCLE (O) & LINE (1). THIS
RELATIONSHIP REFLECTS THE MERCURIAL MIRROR OF YOUR MIND [9]. OTHER MIRRORS (WORMHOLES)
ARE ADAM NUMBERS, LIGHT [1] VS. TIME [0], ZEUS [1] VS. CHRONUS [0], & THE ALPHA [A] & OMEGA
[O]. LIGHT IS BOTH PARTICLE & WAVE (MIRRORS). LIGHT IS THE BEGINNING [A] & THE END [Z]. THE
PARADOX OF THE MIRROR OF LIGHT GIVES YOU BOTH DESTINY (100% FATE) & FREEWILL (100% CHOICE).



[1] LIGHTEN UP (ASCENDING ONTO LIGHT)
[0] DOWN TIME (DESCENDING INTO TIME)
[8] SOUL (THE SUN) & [==] SPIRIT (THE SERPENT)

[1] LIGHTEN UP (ASCENDING ONTO LIGHT)

[FORMULAICAL]J: IT IS SELF-EVIDENT THAT THE CIRCLE (EVERYTHING) CREATED THE DOT (NOTHING). THE
CIRCLE OF LIGHT [1] & TIME [0] CREATED YOUR SOUL [8]. THE ANCIENT SYMBOL OF THE SUN [8]:

[GEOMETRICAL]: THE CIRCLE (MAXIMUM AREA) CREATED THE DOT (NO AREA) (0), WHICH CREATED THE
LINE (1). THE LINE CREATED THE VESICA (2). THE VESICA CREATED THE TRIANGLE (MINIMUM AREA) (3).
THE TRIANGLE IS TRIPOLARIZED LIGHT (ELECTR-O-MAGNETIC CURRENT) (MINIMUM AREA) EXPRESSED
WITHIN CIRCULAR (CIRCUIT) LIGHT (MAXIMUM AREA) (3.14~). THESE FRACTALS ARE REPEATED FOREVER.

1 [LIGHT] + 1 [LIGHT] + 1 [LIGHT] = 3 [CUBED LIGHT]
3 [CUBED LIGHT] + 3 [CUBED LIGHT] + 3 [CUBED LIGHT] = 9 [HYPERCUBED LIGHT] [MIND]
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[0] DOWN TIME (DESCENDING INTO TIME)

[NUMERICAL]: IT IS SELF-EVIDENT THAT THE 1 (EVERYTHING) CREATED THE 0 (NOTHING).
[METAPHYSICAL]: MASCULINE LIGHT [1] SUBTRACTED (PENETRATED) (INVERTED) ITSELF THROUGH
FEMININE TIME [0] & INDUCED (IMPREGNATED) THE MAGNETIC MIND [9].

[MATHEMATICAL]: 10-1=9

Q: WHAT IS CONSCIOUSNESS?
A: THE EXPLOSION EXPERIENCE, EXPANSION EXPRESSION (ORGASM) OF LIGHT (1) (THE ORGANISM),
THROUGH TIME (0) WITHIN THE HYPERCUBIC (PERFECT CUBE) (3 x 3) MIND (9).

THE CUBE OF NINE (THE BLACK CUBE)

THE INVERNAL NINE (9) & HER MANY FRACTALS [81 (9 x 9), 108 (9 x 12), ETC.] HAVE ALWAYS BEEN THE
NUMERICAL FRACTALIZED ARCHETYPE OF YOUR MIND (HELL). REMEMBER:

[JUDAIC]: THE GOLDEN DELTA OF ENOCH WAS BURIED NINE (9) LEVELS BELOW MOUNT MORIA.
[MASONIC]: THE OAK ISLAND MONEY PIT HAD NINE (9) LEVELS OF BURIED OAK PLANKS.

[GREEK]: HERCULES DEFEATED THE NINE-HEADED HYDRA BY SURRENDER.

[CHRISTIAN]: JESUS CLEANSED THE TEMPLE OF MONEY-CHANGERS WITH A CAT O’ NINE TAILS.
[PSALM 118:22]: “THE STONE THE BUILDERS REJECTED HAS BECOME THE CHIEF CORNERSTONE.”
[BUDDHIST]: THE NINTH LUNAR MONTH SAW BUDDHA DESCEND FROM HEAVEN TO EARTH (MERU).
[TIBETAN BUDDHIST]: THE FIRST DRUKCHEN (TSANGPA) WITNESSED NINE (9) DRAGONS & THUNDER!
[BUDDHIST]: NINE (9) LEVELS OF CONSCIOUSNESS (SAMADHI).

[JIUQUAN]: NINE (9) SPRINGS OF THE UNDERWORLD (HELL).

[JIUYOU]: NINE (9) SERENITIES OF THE UNDERWORLD (HELL).

[JIUYUAN]: NINE (9) ORIGINS OF THE UNDERWORLD (HELL).

[NORSE]: NINE (9) WORLDS WITHIN THE YGGDRASIL TREE.

[NORSE]: HEL (DAUGHTER OF LOKI) IS GRANTED POWER OVER THE NINE (9) WORLDS.
[NORSE]: NINE (9) DAUGHTERS (WAVES) OF £GIR & RAN (THE SEA).

[NORSE]: NINE (9) MOTHERS OF HEIMDALLR (THE ONE WHO ILLUMINATES THE WORLD).
[HERMETIC]: THE NINTH TAROT CARD = THE HERMIT (IX).

[EGYPTIAN]: THE ENNEAD (NINE GODS).

[CHINESE]: 18 LEVELS OF DIYU (HELL).

[CHRISTIAN]: LUKE 14.11 — “BEHOLD, THERE WAS A WOMAN (A DAUGHTER OF ABRAHAM) WHO (BOUND
BY SATAN) HAD A SPIRIT OF INFIRMITY 18 YEARS.”

[CHRISTIAN]: LUKE 13.4 — “THOSE 18 SINNERS, WHOM THE TOWER OF SI-LO,AM FELL, & SLEW THEM...”




[HINDUISM]: 108 UPANISHADS (SPIRITUAL CORE OF HINDUISM) OF FOUR (4) VEDAS.
[HINDUISM]: 108 UPANISHADS (DISCUSS MEDITATION, PHILOSOPHY & SPIRITUAL KNOWLEDGE).
[HINDUISM]: 108 SUN SALUTATIONS AT THE SOLSTICES & EQUINOXES.

[HINDUISM]: 108 SYMBOLS OF VISHNU.

[BUDDHISM]: 108 OFFERINGS BOWLS AT THE PISCEAN FEET (HELL) OF BUDDHA.

[BUDDHISM]: 108 EARTHLY DESIRES IN MORTALS, 108 LIES HUMANS TELL, & 108 HUMAN DELUSIONS.
[BUDDHISM]: 108 STEPS TO ENLIGHTENMENT AT THE TEMPLE.

[BUDDHIST & TAOIST]: 108 BEADS IN THE SU-CHU (ROSARY).

[SIKHISM]: THE MALA =108 [AQUARIAN] KNOTS TIED IN A STRING OF [ARYAN] WOOL.
[HINDUISM]: 108 BEADS IN THE VYJANTI MALA (ROSARY).

[CATHOLIC]: 108 BEADS IN A ROSARY.

[ASTRONOMICAL]: 1,080 MI = RADIUS OF MIOON.

[CHRONOLOGICAL]: 108,000 SECONDS =1 HOUR (HORUS).

[SCIENTIFIC]: 1,080,000,000 KM/H = THE SPEED OF LIGHT.

[JUDAISM]: 1,080,000,000 ROYAL BABYLONIAN GRAINS = NEW JERUSALEM.

THE CIRCLE OF [9] MIND & [1] LIGHT
THE CIRCUIT OF ELECTR-O-MAGNETISM
[9] MIND (MAGNETIC) & [1] LIGHT (ELECTRIC)
[9] MIND (LIGHT BEARER) & [1] LIGHT
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[9] THE ENNEAD (ENNEAGRAM) = THE GEOMETRY OF YOUR BA’ALANCED [9] MIND.
[9] THE SOLFEGGIO SCALE = THE OPTIMAL FREQUENCIES OF YOUR NATURAL HARMONIC [9] MIND.
[1] BALANCE (GEOMETRIC EQUILIBRIUM) = HARMONY (STANDING WAVE OF 111).

[9] MIND (MAGNETIC) = SOLFEGGIO FREQUENCIES (BALANCE POINTS) (TRIANGLE CUBED) (A%). EACH
FREQUENCY REDUCES TO THREE (3).

[1] LIGHT (ELECTRIC) = THE DIFFERENCE (STANDING WAVE) HIDDEN BETWEEN THE SOLFEGGIO
FREQUENCIES: (825 — 714 = 111) (714 — 693 = 111) (693 — 582 = 111) (582 — 471 = 111) (471 — 369 = 111)
(369 — 158 = 111) (258 — 147 = 111). EACH INTERVAL (111) SUMS TO THREE (3).
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THE SQUARES OF [9] MIND & [1] LIGHT

THE SQUARE (DIAL PAD) = THE CIRCLE (ENNEAD). THE 2D SQUARE IS A 2D STEROGRAPH OF THE 2D
CIRCLE. EACH ENCODE THE SAME INFORMATION, ONLY EXPRESSED FROM DIFFERENT POINTS OF VIEW.

[9] MIND (MAGNETIC) = 3, 6, 9 (TRIUNE TUNING)
[1] LIGHT (ELECTRIC) = 1 (THE HIDDEN TUNE)
[0] TIME = 0 (THE TEMPO (TIME POLE) OF YOUR TEMPLE)

[1] LIGHT (ELECTRIC) = THE DIFFERENCE (STANDING WAVE) HIDDEN BETWEEN THE DIAGONALS OF THE
SOLFEGGIO FREQUENCIES: (1+9=10=1)(2+8=10=1)(3+7=10=1) (4+6=10=1)(5+5=10=1).
EACH ROW (1 +1 + 1) SUMS TO THREE (3).

[9] MIND (MAGNETIC) = SOLFEGGIO FREQUENCIES (COLUMN 1 = 147) (COLUMN 2 = 258) (COLUMN 3 =
) (TRIANGLE CUBED) (A%). EACH COLUMN REDUCES TO THREE (3), SIX (6), OR NINE (9). COLUMN 4
ALSO OBEYS THESE QUALITIES (THE ASTERISK = 6 LINES & THE HASHTAG (#) = 9 LINES, WHICH IS A FRACTAL
OF ITSELF (#) WITHIN ITSELF (THE DIAL PAD). THE # = 3 (COMPUTER KEYBOARD). THE VEDIC MAGIC
SQUARE OF NINE [9] ENCODES ANOTHER FRACTAL OF YOUR MIND [9].
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THE VEDIC MAGIC SQUARE OF NINE [9]
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Standard Decimal Parity Equivalent
— 111
— 111
— 111
—> 111
— 111
— 111

Each row sums to 111 Each row sums to 30
6 rows x 111 = 666 6 rows x 30 =180

THE MAGIC SQUARE OF THE SUN OF MAN (SON) - (1 & OCTAVE 8)

[STANDARD]: 666 = 6 ROWS OF 111 [CUBED LIGHT]

[STANDARD]: 666=1+2+3+4+5+6+7+8+9+10+11+12+13+14+15+16+17+18+19+20+
21+22+23+24+25+26+27+28+29+30+31+32+33+34+35+36.

[SOLUTION]: 666 = THE NUMBER OF MAN (6°). 999 = THE NUMBER OF MIND (CUBED).
[NUMERICAL]: 1=A & 0=Z (ZERO)

[GREEK]: FROM A TO Q (ALPHA & OMEGA).

[ENGLISH]: FROM A TO Z (THE BEGINNING & THE END).

6=1+5(THE 15TH LETTER OF THE ENGLISH ALPHABET = O) (OMEGA)

6=1+5(THE 15TH LETTER OF THE GREEK ALPHABET = O) (OMNICRON) (ALL TIME)

6=2+4 (THE 24TH LETTER OF THE ENGLISH ALPHABET = X) (CROSS)

6=2+4 (THE 24TH LETTER OF THE GREEK ALPHABET = Q) (OMEGA) es_e
6=0+6(THE 6TH LETTER OF THE GREEK ALPHABET = Z) (ZETA)

6=0+6 (THE 6TH LETTER OF THE ENGLISH ALPHABET = F (INTERCHANGEABLE WITH S)

[MATHEMATICAL]: ADAM NUMBERS (MIRROR NUMBERS) = THE SQUARE OF A O
NUMBER (12* = 144) & THE SQUARE OF THE REVERSE NUMBER (217 = 441) =

PALINDROMIC RELATIONSHIP. ALLADAM NUMBERS (UPTO 1,000): 0, 1, 2, 3,11, 12, 13,
21,22,31,101,102, 103,111 [CUBED LIGHT], 112,113, 121 (11X11), 122, 201, 202, 211,
212,221, 301, 311 (AGE OF THE UNIVERSE = 311,040,000,000 YEARS). ADAM NUMBERS
ARE USED IN C++ COMPUTER CALCULATIONS.
[JUDEO-CHRISTIAN]: THE OMEGA NUMBER (THE END)

[MATHEMATICAL]: 110 = SPHENIC & PRONIC NUMBER

[MATHEMATICAL]: 110 = 52 + 6% + 7> (3 CONSECUTIVE SQUARES)

[MATHEMATICAL]: 110=11X10=11X5X 2

[JUDAISM]: 110 = THE AGE OF DEATH FOR JOSHUA & JOSEPH.

[CHRISTIAN]: 110 = THORN WOUNDS ON THE HEAD (PASSION OF JESUS CHRIST)

[CHRISTIAN]: 110 = EUCHARIST (THE LAST SUPPER) (BREAD & WINE ECEREMONY) (22 SUFFERINGS OF THE

WORD OF GOD & 5 WOUNDS ON THE CROSS) (X)
[EXODUS 25:31-38]: 110 = THE LAMPSTAND (22 ALMOND BLOSSOMS X 5 PETALS ON EACH FLOWER)



RIEMANN’S RHYTHM

THE 2D STEREOGRAPH OF THE 2D CIRCLE (ENNEAD/SOLFEGGIO) & 2D SQUARE (DIAL PAD)

THE 3D STEREOGRAPH OF THE SPHERE (RIEMANN SPHERE) & 2D SQUARE (RIEMANN PLANE/GRAPH).
ALL POINTS OF VIEW CONTAIN THE EXACT SAME HARMONIC INFORMATION & ARE SELF EVIDENCE.

2
Area=r-

Circle Area =
2
X r-

360° = 360°

YOU ARE LOOKING AT THE EXACT SAME THING FROM DIFFERENT DIMENSIONAL VIEWS.

RIEMANN’S RIM
RIEMANN’S CIRCUMCISION RHYME & HYMN OF THE HYMEN

[0 & 1 CROSSPOINTS (ZERO POINTS)]: THE CONTINUOUS SINUSOIDAL LIGHT WAVE = A CONTINUOUSLY
RINGING TIBETAN SINGING BOWL = THE RHYTHM OF THE CIRCULAR ZODIAC (THE CIRCULAR CURRENT
RINGS LOW [-] (CAPRICORN) (01 JANUARY (1), ZENITH OF SIRIUS) (JEWISH DAY OF CIRCUMCISION) &
HIGH [+] (CANCER) (MOON RULERSHIP) (21 JUNE (6), HELIACAL RISING OF SIRIUS) (THE ANNUAL NILE
FLOOD) (THE VIRGIN ARTEMIS (MOON GODDESS) & HER HUNTING DOGS) AS THE WAVE TRAVELS
AROUND THE RIM OF THE BOWL (ZODIACAL FRACTALS). THE KNOWLEDGE CONTAINED WITHIN THE
MIRROR OF THE 0 & 1 = THE ONE RING (THE RED CIRCLE) THAT RULES THEM ALL (THE KNOWLEDGE OF
LIGHT & ITS MOST FUNDAMENTAL FRACTALS OF EXPRESSION) (YOU CAN READ LIGHT THROUGH HOLY [-
= +] SIGHT).

displacement
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21 DEC (omowi SING)

A SINEWAVE = A SINGING BOWL = THE ZODIAC. THEY CONTAIN THE EXACT SAME INFORMATION
EXPRESSED FROM THREE DIFFERENT POINTS OF VIEW.

parts of a wave




THE ARROW PARADOX

[0] TIME (NOTHING) & [1] LIGHT (EVERYTHING)

[0=1& 1=0]: “IF EVERYTHING [1] WHEN IT OCCUPIES AN EQUAL SPACE [=] IS AT REST [0], & IF THAT
WHICH IS IN LOCOMOTION [EVERYTHING] IS ALWAYS OCCUPYING SUCH A SPACE [EQUALITY] AT ANY
MOMENT [TIME], THE FLYING ARROW [1] IS THEREFORE MOTIONLESS [0].” - ARISTOTLE, PHYSICS

[ELECTRONIC]: The amplitudes of all the even harmonics should be absolutely zero. A waveform of
infinite duration (infinite number of cycles) can be analyzed with absolute precision, but the less cycles
available to the computer for analysis, the less precise the analysis. It is only when we have an equation
describing a waveform in its entirety that Fourier analysis can reduce it to a definite series of sinusoidal
waveforms. The fewer times that a wave cycles, the less certain its frequency is. Taking this concept to
its logical extreme, a short pulse -- a waveform that doesn't even complete a cycle -- actually has no
frequency, but rather acts as an infinite range of frequencies. This principle is common to all wave-based
phenomena, not just AC voltages & currents.

THE RACETRACK PARADOX

[0 & 1 MERGE]: ZENO’S PARADOX OF ACHILLES (HEEL) / PISCES (HELL) & THE TORTOISE (HEAL YOUR
TORTURED HEART). FORO<x<1,a+ax+ax*+ax*+ax*+ax>+--- =a/l-x. IFa=10 SECONDS & x =
0.01, ACHILLES WILL OVERTAKE THE TORTOISE IN 10 + 0.1 + 0.001 + 0.00001 + - - - =10/1-0.01
=10/0.99 =10/(10/99) SECONDS [INFINITY’S END] [ZENO (THE ZERO) & HIS SOLVED ZED/ZETA] [0].

THE DICHOTOMY PARADOX

[0] TIME (NOTHING) & [1] LIGHT (EVERYTHING)

[2] INFINITE SPIRIT (SERPENT) & [8] ETERNAL SOUL (SUN)

[0=c &1 =8]: THE DICHOTOMY PARADOX = THE INFINITE SPACE BETWEEN 0 & 1 (DUE TO THE FACT
THAT BOTH ARE TWO SIDES OF THE VERY SAME THING (EVERYTHING). EVERYTHING IS BOTH INFINITE [09]
& E[IGH]TERNAL [8]. EIGHT [8] = THE ENERGETIC OCTIVE OF LIGHT [1].

[co] INFINITE SPIRIT (THE SERPENT) IS A FRACTAL OF TIME [0], JUST AS [8] ETERNAL SOUL (THE SUN) IS A
FRACTAL OF LIGHT [1]. YOUR ETERNAL SOUL [8] IS OCTAVIZED LIGHT [1] (EVERYTHING), JUST AS INFINITY
IS NEGATIVE OCTIVIZED TIME [0] (NOTHING).

[ALL NONZERO COMPLEX NUMBERS]: Z, WITHoo/0=c0 &0/e0c=0. Z/0=o> &Z/>>=0. THE

QUOTIENTS 0/0 & o=/=> ARE IN EQUILIBRIUM [=]. INFINITY’S END [°=] IS ZEROIZED TIME [0] (NOTHING),
AS EVIDENCED BY THE REIMANN SPHERE:
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P(c0)

P(0)

Trivial Zeros, s=-2,-4,-6,..

Nontrivial Zeros
Vin
Sa—t——1/2+(32,9350615..) i
S4—1——1/2 + (30,4248761..) i
1 1
1 1
Qe—L——1/2+(25,0108575..)
1
Qe—L——1/2+(21,022039..) i
1
1
£ '
Se———1/2+(14,1347251..) i

@

Poles=1
'/ Re

1/2 :1 2 3

\—— Critical Line

«————1/2 - (14,1347251..) i

- -

1

1

1

S 1/2 - (21,0220396..) i

be1——1/2-(25,0108575..)

't 1

1 1

GeA——1/2 - (30,4248761..) i
1
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1] 1

LIGHT REFLECTION
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THE RIEMANN HYPOTHESISISSOLVED

[0] TIME (NOTHING) & [1] LIGHT (EVERYTHING)

[RIEMANN HYPOTHESIS]: THE RIEMANN ZETA [0] FUNCTION HAS ITS TRIVIAL (IMAGINARY PART) ZEROS
ONLY AT THE NEGATIVE EVEN INTEGERS & NON-TRIVIAL (REAL PART) ZEROS ALONG THE POSITIVE
(ADAM) % (CRITICAL LINE). THE UNSOLVED AREA (-1 TO 1).

[sorron
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[1] LIGHT: THE LAW OF REFLECTION STATES THAT FOR EACH INCIDENT RAY THE ANGLE OF INCIDENCE =
THE ANGLE OF REFLECTION, & THE INCIDENT, NORMAL, & REFLECTED DIRECTIONS ARE COPLANAR. THIS
IS FRACTALLY REFLECTED IN THE RIEMANN GRAPH OF COPLANES (IMAGINARY [-] & REAL [+]).



(REMEMBER, THERE ARE TWO SIDES (REVERSE [-] & OBVERSE [+]) TO EVERY COIN, YET STILL ONLY ONE
COIN). TRUE TO ITS NATURE, LIGHT [Q] WILL OBEY THREE THINGS UPON HITTING THE SURFACE:

[1] LIGHT [Q]: MAY BE REFLECTED (THE NON-TRIVIAL ZEROES). REAL
[0] TIME [O]: MAY BE ABSORBED BY THE MATERIAL (THE ZERO POINT). MIRROR
[2] EVEN [P]: MAY BE TRANSMITTED THROUGH THE SURFACE (THE TRIVIAL ZEROES). IMAGE

THUS, THE RIEMANN GRAPH DEPICTS ALL THREE STATES OF THE LAW OF SPECTRAL REFLECTION. SINCE
THE LIGHT RAY [Q] IS PROJECTING FROM POLE 1 INTO POLE O, IT SHALL:

[1]: REFLECT AT 90° (MAXIMUM REFLECTION BOTH NORTH & SOUTH (180°) ALONG THE CRITICAL LINE).
[0]: ABSORB INTO POLE 0 (THE CENTRAL & PRIME ZERO).
[2]: TRANSMIT THROUGH THE CENTRAL POLE IN EVEN INTEGERS ALONG THE IMAGINARY PLANE.

THE CRITICAL LINE (1/2)

%2 = THE REAL DISTANCE OF THE CRITICAL LINE. IT REFLECTS THE PROPERTIES OF 0 & 1:

%2 = THE CENTRAL POLE [0] OF THE TOTAL UNSOLVED DISTANCE (-1 TO 1).

1-1=0(THE 1/2 MARK BETWEEN THE TOTAL UNSOLVED DISTANCE (-1 TO 1).
1/1=1(CANCELS(X)TOO0(0=1)(1=0)

1x1=1(CANCELS(X)TO0(0=1)(1=0)

1+41=2(1+2=3)(2+3=5)(3+5=28)(...) (FIBONACCI = 1:1.618) THE SWIRLING (BENDING/ARCHING)
(RIGHT TURNING) LIGHT ALONG THE MOST EFFICIENT PATH OF TRAVEL (0 =1) (1 = 0).

[+] NON-TRIVIAL (AVIARY) ZEROES 1 1
[=] TRIUNE NAVAL (VISIONARY ZERO) % 3.14~
[-] TRIVIAL (IMAGINARY) ZEROES -1 2

THE DISTRIBUTION OF ZEROES FOUND ALONG THE CRITICAL LINE:

o

Aa

7 (a)

imaginary ¢(s)

imaginary s

xxxxx

i *
2 3 E -§4 -2 0 2 4 6
real ¢(s)
[+] THE PARTICLE [-] THE WAVE
[+] THE LINE (SQUARE) [-] THE CIRCLE (O)
[+] LIGHT [1] [-] TIME (0)
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THE PRIMERIEMANNNUMBERPATTERN

MATHEMATICIANS ACKNOWLEDGE THAT THE FAILURE OF THE RIEMANN HYPOTHESIS WOULD CREATE
HAVOC IN THE DISTRIBUTION OF PRIME NUMBERS. YET, MATHEMATICIANS ALSO ASSERT THAT PRIME
NUMBERS (2, 3, 5, 7, 11, 13, 17...) CONTINUE WITHOUT PATTERN AD INFINITUM. THE HIDDEN PATTERNS
WITHIN PRIME NUMBERS ARE SEEN THROUGH MIRROR [- +] (RECIPROCAL) DIVISION:

3/2= 1.5 (THE % MARK) (X MARKS THE SPOT)

2/3= 0.6666666...

5/3= 1.6666666...

3/5= 0.6

7/5= 1.4 (FIRST REAL ZERO (0) AT 14.134...) (A FRACTAL OF TT).
5/7=0.714285714285... (REPEATING SOLFEGGIO FREQUENCIES) (714) (285)
11/7 = 1.571428571428... (REPEATING SOLFEGGIO FREQUENCIES) (714) (285)
7/11= 0.63636363636...

13/11=1.1818181818... (REPEATING MIND/MOON)

11/13 =0.84615384615... (846 = SUN) (153 = VESCIA PISCES) 153 153 \
13/17 =0.76470588235...

17/13 = 1.30769230769...

19/17 = 1.11764705882

SOLUTION CONCLUSION

THE 0 & 1 OBEY THE PROPERTIES & QUALITIES OF ITSELF (LIGHT & TIME) IN EVERY WAY. THIS CAN BE
SEEN WITHIN LIGHT'S MULTIPLE POINTS OF VIEW. EACH POV (POSITIVE & NEGATIVE) CONTAIN THE
EXACT SAME INFORMATION AS EVERY OTHER POV (POSITIVE & NEGATIVE). FOR EXAMPLE:
[ALPHABETIC]: A & Z (ZED)

[NUMERIC]: 1 (LIGHT) & 0 (ZERO)

[2D GEOMETRIC]: I (LINE) & O (CIRCLE)

[3D GEOMETRIC]: RIEMANN GRAPH (SQUARE) & RIEMANN SPHERE (CIRCLE)

A 0D DOT IS A STEROGRAPH OF A 1D LINE, JUST AS;

A 2D CIRCLE IS A STEROGRAPH OF A 2D SQUARE (CIRCLING THE SQUARE), JUST AS;

A 3D RIEMANN SPHERE IS A STEROGRAPH OF A 3D RIEMANN GRAPH (INTERSECTING SQUARE PLANES).
THE INFORMATION CONTAINED WITHIN THE PLANE POV POSES THE RIEMANN HYPOTHESIS, WHICH [S
PROVEN TRUE BY THE INFORMATION CONTAINED WITHIN THIS ENTIRE WORK (THE SYNCHRONIZED
FRACTALS OF THE 0 & 1) (EACH NESTING WITHIN EACH OTHER). ZERO WILL ONLY APPEAR ALONG THE
CRITICAL LINE. QUANTAM (Q) ENERGIES.

FURTHER: DRAW A CIRCLE ON THE RIEMANN PLANE. STARTING FROM THE CENTRAL ZERO [0] & TRAVEL
THE DISTANCE TO ANY POINT CHOSEN ON THE CIRCUMFERENCE. THIS DISTANCE CAN NEVER BE
COMPLETED. THIS MEANS THAT THERE IS AN INFINITE NUMBER OF POINTS TO CHOOSE FROM ALONG
THE CIRCUMFERENCE OF THE CIRCLE, EACH WITH AN INFINITE NUMBER OF DISTANCES BETWEEN EACH
OTHER & THE CENTRAL ZERO (0). IN OTHER WORDS, THE CIRCLE ITSELF IS A WORMHOLE ON PAPER &
THROUGH THOUGHT YOU CAN TRAVEL FOREVER INTO THE PERIMETER. SIMPLY BY DRAWING A CIRCLE
ON PAPER YOU HAVE CREATED A WORMHOLE & CREATED A WAY TO EXPRESS A WORMHOLE (THROUGH
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GEOMETRY) IN YOUR REALITY. YOUR REALITY IS IN TURN ENTIRELY MADE OF ATOMS (EACH A
WORMHOLE), QUANTUMS (EACH A WORMHOLE), OMNIDIRECTIONALLY FOREVER.

“The disciples say to Jesus: "Tell us what our end will be." Jesus says: "Have you then deciphered the

beginning, that you ask about the end? For where the beginning is, there shall be the end. Blessed is the
man who reaches the beginning; he will KNOW the end, & will not taste death!" — The Gospel of Timothy
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